Thanksgiving Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

7 413 2 819
5 9 311
913 1 ]38 4 2
316 |75 4
1 2 91863
6|85 2 |1
6 4983 2 5
27 3|8
3 | 1 215 6
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Answers

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 9.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 3 BLOCK).

7111413521689
8151214 /9]6 |3 |17
913161 [8[7([5]4]2
219 13(6]1 8[7]5 4
1171512149863
416 8|57 3921
6149|831 12|75
5121719164138
318|117 12]514]9]6
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